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Write short notes on any mwo of the following :
(/)  Buddhist theory of dependen; origination.
(i)  Satkaryavada

(iif) Concept of. Karrﬁé";'(Action), Jnana (Knowledge) and
Bhakti (Devotion) in different Systems of Indian

Philosophy.
(v) Jaina Anekantavada.
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(Write your Roll No. on the top immediately on receipt of this question paper.)
Note :— Answers may be written either in English or in Hindi
but the same medium should be use.d throughout the
paper. :
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Attempt A/l questions.

All questions carry equal marks.
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Discuss the common concerns of the Indian Philosophical

Systems.
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© Discuss Preyas, Sreyas and Nihsreyas with reference to
Kathopanishadas.
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Critically evaluate Charvaka’s rﬁateria]ism.
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Explain the dualism between prakriti and purusa as formulated
in the Sankhya philosophy.
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Discuss the Jaina theory of Syadvada.
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" Discuss the theory of percepti.on: according to Nyaya.
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Explain the nature of Maya_ acbbrding’ to Shankaracharya. How

does Ramanuj refute that ? Explain.
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Or(3a)
Explain the notion of Self according to Shankara. How is it
different from Buddhist doctrine of Self ? Discuss.
v ® o $ fagi @ wren R
fre v dg @ oem & fagm | = &7 fadem
o |

PTO.



